3.

T

ORI Tici

it

(24.10.1)
BT T 4 im B L mr T 4 [T - M B L
knd % knd %
il > =7 15. 85 100.0 ™l & i) 1.32 8.3
— T H 0.23 1.5
H = iy 0.84 5.3 - T H 0.22 1.4
— T H 0.08 0.5 = T H 0.24 1.5
- T H 0.09 0.6 moT H 0.25 1.6
= T H 0.10 0.6 £ T H 0.16 1.0
moT B 0.17 1.1 A T H 0.22 1.4
T H 0.10 0.6 A &K H 1.35 8.5
A T H 0.13 0.8 — T H 0. 26 1.6
+ T H 0.17 1.1 - T H 0.24 1.5
2] i) 0.92 5.8 = T H 0.32 2.0
— T H 0.12 0.8 moT A 0.24 1.5
- T H 0.14 0.9 £ T H 0. 29 1.8
= T H 0.17 1.1 E3 iing 0.83 5.2
moT B 0.13 0.8 — T H 0.18 1.1
i T H 0.19 1.2 - T H 0. 09 0.6
AN T H 0.17 1.1 = T H 0.11 0.7
] IR ity 0.70 4.4 m T H 0.11 0.7
— T H 0.07 0. 4 i T H 0. 20 1.3
- T H 0.14 0.9 A T H 0.14 0.9
= T H 0.15 0.9 il iR 0.73 4.6
moT A 0.25 1.6 — T H 0.13 0.8
i T H 0. 09 0.6 - T H 0.15 0.9
#x i) 0. 61 3.8 = T H 0.14 0.9
— T H 0.35 2.2 moT A 0.10 0.6
- T H 0.13 0.8 L T H 0.13 0.8
= T H 0.13 0.8 A T H 0. 08 0.5
& = i) 0. 68 4.3 ® N 1) 0.66 4.2
— T H 0.19 1.2 — T H 0.11 0.7
- T H 0.25 1.6 - T H 0.12 0.8
= T H 0.24 1.5 = T H 0.16 1.0
it [R ity 0.35 2.2 m T H 0.09 0.6
— T H 0.14 0.9 L T H 0. 08 0.5
- T H 0.11 0.7 A T H 0.10 0.6
= T H 0.10 0.6
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(1) BT TRNER (Do)

BT T 4 [T - M pR Lt mr T 4 [T - M B L
knd % knd %
e3 = T 0.82 5.2 * = iing 0. 65 4.1
— T H 0.14 0.9 — T H 0.15 0.9
— T H 0. 06 0.4 - T H 0.09 0.6
= T H 0.14 0.9 = T H 0.13 0.8
moT B 0.11 0.7 moT M 0.08 0.5
T H 0.18 1.1 T H 0. 09 0.6
AN T H 0.19 1.2 AN T H 0.11 0.7
= * iy 0.75 4.7 viEY AR 0.64 4.0
— T H 0.18 1.1 — T H 0.13 0.8
— T H 0.15 0.9 — T H 0.13 0.8
= T H 0. 08 0.5 = T H 0.22 1.4
moT A 0.17 1.1 moT A 0.16 1.0
T H 0. 07 0.4 OIEY HMNEI 0.32 2.0
AN T H 0.10 0.6 — T H 0. 09 0.6
R g 0.67 4.2 - T H 0. 07 0.4
— T H 0.12 0.8 = T H 0.08 0.5
— T H 0.07 0.4 moT A 0.08 0.5
= T H 0.11 0.7 ES iy 0.35 2.2
m T H 0.11 0.7 — T H 0.17 1.1
T H 0.13 0.8 — T H 0.12 0.8
AN T H 0.13 0.8 = T H 0. 06 0.4
® iy 0. 60 3.8 it iy 0.67 4.2
— T H 0.10 0.6 — T H 0.07 0.4
— T H 0. 09 0.6 — T H 0.19 1.2
= T H 0.10 0.6 = T H 0. 08 0.5
m T A 0.13 0.8 moT A 0.11 0.7
T H 0.08 0.5 T H 0.16 1.0
AN T H 0.10 0.6 AN T H 0. 06 0. 4
3 iy 0.68 4.3 T 7R = 0.72 4.5
— T H 0.12 0.8 — T H 0.11 0.7
— T H 0.15 0.9 — T H 0.10 0.6
= T H 0.13 0.8 = T H 0.19 1.2
m T A 0.07 0.4 moT A 0.15 0.9
T H 0.11 0.7 T H 0.17 1.1
AN T H 0.10 0.6




(2) Hh H a1l
21 22
Hh B B
[i] i (m) # e (%) ] M (d) | k(%)
i Hh v 15, 850, 000 100.0 15, 850, 000 100.0
JE F & oih 7B 5,242,304 33.1 5, 260, 544 33.2
i 1,862, 277 11.7 1,825,019 11.5
JE R OBl OHOAH 250, 460 1.6 249, 562 1.6
e Hh 9, 387, 689 59. 2 9,417, 877 59. 4
— % £ £ 7,022, 058 44.3 7,043, 681 44. 4
F E £ M 1, 630, 687 10.3 1, 633, 050 10.3
JE R OBl OHOAE 734, 944 4.6 741, 146 4.6
il oN 119, 198 0.8 118, 686 0.7
JE G OBl OHhOAE 103, 350 0.7 103, 350 0.7
HE il H 494, 879 3.1 491, 951 3.1
g #oE O 148, 751 0.9 146, 006 0.9
Z D O HEFE 178, 535 1.1 175, 926 1.1
JE G OBl OHAE 167, 593 1.1 170,019 1.1
e D ek 3, 985, 957 25.1 3, 996, 167 25.2
JE B OPL OHh fE 3, 985, 957 25. 1 3, 996, 167 25.2
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(F41. 1)
23 24 25

o B (nd) | A R R (%) | m B (nd) | A Rk (%) | m B (o) | HE K H (%)
15, 850, 000 100.0 15, 850, 000 100.0 15, 850, 000 100.0
5,297, 587 33.4 5,309, 639 33.5 5, 306, 898 33.5
1,797,769 11.3 1, 769, 957 11.2 1,730,715 10.9
249, 530 1.6 252, 829 1.6 251, 508 1.6
9, 438, 979 59. 6 9, 466, 181 59.7 9,514, 662 60. 0
7,104, 783 44. 8 7,158, 766 45. 2 7,192,933 45. 4
1, 564, 323 9.9 1, 534, 050 9.7 1, 543, 888 9.7
769, 873 4.9 773,365 4.9 777, 841 4.9
116, 823 0.7 116, 266 0.7 114, 017 0.7
103, 904 0.7 103, 904 0.7 103, 904 0.7
492, 800 3.1 488, 580 3.1 487,472 3.1
146, 006 0.9 146, 165 0.9 145, 354 0.9
176, 143 1.1 171, 890 1.1 171, 607 1.1
170, 651 1.1 170, 525 1.1 170, 511 1.1
4,003, 629 25.3 4,009, 016 25.3 4,003, 134 25.3
4,003, 629 25.3 4,009, 016 25.3 4,003, 134 25.3




(3) T & 1] P s 1) i P

(25.12. 16)
o Bl AR (%) X~ FE R (%) M f#(ha) RERLEE (%)
i £ Ik - - 1, 585. 0 100. 0
30 50 4.9 0.3
B EOIK B 30 60 22.9 1.4
F EBE A W 40 80 565. 9 35.7
50 100 262. 8 16. 6
R - (i
bR W 50 100 6.1 0.4
" . 50 150 149. 8 9.5
R - e A=
' p
fE o 5T e 60 200 200. 1 12.6
50 100 3.4 0.2
B oEYE B
i 50 150 2.1 0.1
60 200 58. 0 3.7
60 200 57.0 3.6
o — B AE JE
60 300 2.4 0.2
M E MR 60 200 10. 6 0.7
HoE JE O i 60 200 68. 4 4.3
80 200 26. 4 1.7
T B PE O M 80 300 42.3 2.7
80 400 2.7 0.2
80 200 0.3 0.0
T S . 80 400 19. 1 1.2
80 500 7.2 0.5
60 200 48.6 3.1
e T ¥ M
60 300 2.1 0.1
T % ok 60 200 21.9 1.4
T ¥ 5 M H o - - - -
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